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=z 70,326,692 84,604,941 A14,278,249
200 M2l 11,304,861 5,527,314 5,777,547
210 ZAXAI2I 678,861 527,314 151,547
211 THAHUTHA 308,861 227,314 101,547
211-02 2RMAAUZ 308,861 227,314 101,547
< MargE > 308,861 227,314 101,547
Ok P=PURSINZ=1= 193,324,0002 193,324
OYBHA e 2 111,008,000 111,003
OZ|MA g2 24,534,000 24,534
216 Ol A2 350,000 300,000 50,000
216-01 330201 XL 350,000 300,000 50,000
< THAHEFZ D > 350,000 300,000 50,000
OZ20I2 OIXt¢ 350,000,000 350,000
220 YAIFAI2I4-L 10,626,000 5,000,000 5,626,000
221 THAHOH 242 10,626,000 5,000,000 5,626,000
221-03 SR 2 10,626,000 5,000,000 5,626,000
< THAHERZ D > 10,626,000 5,000,000 5,626,000
OBS A D4 10,626,000,0002 10,626,000
50 BX3 415,060 12,507,627 A12,002,567
510 2DEX2E 285,000 12,324,178 A 12,039,178
511 2NEX3ES 285,000 12,324,178 A12,089,178
511-02 2D LRSI HEEX2 285,000 1,208,000 923,000
< SAsSD > 285,000 285,000 0
ObleiSe 23t HY 285,000,0002 285,000
50 Al - THIBX2S 130,060 183,449 53,389
521 Al - SHIBX3ES 130,060 183,449 A53,389
521-01 Al - THIBX3E 130,060 183,449 53,389
< THAHELZ D > 5,060 2,860 2,200
O=RMa e 2te| 5,060,000 5,060
< BAXAD > 125,000 0 125,000
Obl2IWZE /2 (ZII001%2l=01E8 £4)
125,000,0002 125,000
600 XIEtTH 23,000,000 39,470,000 216,470,000
610 LUK 23,000,000 39,470,000 16,470,000
613 XIIHLI|2 23,000,000 39,470,000 16,470,000
613-01 XISHLIIZ2Al - 2 - 2EXNS4Y 23,000,000 39,470,000 16,470,000
<HSTED > 9,000,000 11,100,000 2,100,000




& 600 KIZH
2 610 SLHAI S
g 613 XIFIHEDI= (EH9: &)
.5 Ol & ot T E 0] &Y Hunsz
OsUWH=CMSAE 5,000,000,000& 5,000,000
=L EZ3HFHE 4,000,000,000& 4,000,000
<AL > 14,000,000 9,600,000 4,400,000
OS22-6s6 S 14 S2OHE S At
6,000,000,000& 6,000,000
Odt2z SZEEIAL 8,000,000,000& 8,000,000
00 2EH-USH LR AN 35,606,771 27,100,000 8,506,771
710 2E8=S 11,204,000 4,500,000 6,704,000
711 A0z 11,204,000 4,500,000 6,704,000
71101 =AIHL 0= 11,204,000 4,500,000 6,704,000
< et > 11,204,000 4,500,000 6,704,000
Oz=MAHLNH= 11,204,000,000& 11,204,000
720 LHEO1eH 24,402,771 22,600,000 1,802,771
721 Y= 24,300,257 0 24,300,257
721-03 JIEI A= 24,300,257 0 24,300,257
< MHetEEi > 24,300,257 0 24,300,257
Ogets|lH dY= 24,300,257,000& 24,300,257
722 === 102,514 22,600,000 N22,497,486
722-04 0I& =01 K== 102,514 0 102,514
< argE1 > 102,514 0 102,514
OSEMEESI|I=S HE= OIkt 102,514,000 102,514
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AIGIOIEMIEH 5 4,394,828 17,000,000 A12,605,172
401 Al&HIZ 20| 4,394,828 1,000,000 3,394,828
01 AlEHI 4,181,170 1,000,000 3,181,170
OAl CIOIEMIE JIBAIE 2F(1XF)
4,181,170,000& 4,181,170
02 2eldl 206,550 0 206,550
OAl GIOIE{MIE JIBtAIE 75
206,550,000 206,550
03 Al 2 CHYI 7,108 0 7,108
OAl TIOIEHHIE JIBAIE 15
7,108,000 7,108
HRES(ADIEAEIEYR) 296,250 58,875 237,375
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311 XL S0|RHakst 296,250 58,875 237,375
01 Al - 2 - XL IS XL SO0l K&k 296,250 58,875 237,375
OAl TIOIEHHIE 25 At X232 Ol Rt et
16,000,000,000& *1.5% 240,000
O33240|TH0| &t S AISE (ADLEAIE
HM2IX|) XS Ol KtatE
3,750,000,000& *1.5% 56,250
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SA FRAIE
B QIS DAZKE HE
Ciel: ZEFXE AE(TSUAZ) (crel )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Z=XHAIE 1t 1,948,761 316,400 1,632,361
AN2lls SEFTE =E 1,948,761 316,400 1,632,361
SEFIE S (SFMA2]) 1,948,761 316,400 1,632,361
=S dIFANUH 212 =UHE & SEEEAMY 52,681 0 52,681
401 AlZHIZ SO 52,681 0 52,681
01 A28l 52,681 0 52,681
axs dE3SAUH 212 =XUHE & S3
TENY TAIZ2H(ES) 2HEY
52,681,000 52,681
HEgd & S IT3AY 1,143,600 156,400 987,200
401 Al HIZL 201 1,143,600 156,400 987,200
01 Al&H| 1,010,000 156,400 853,600
OHdgdd & SEFIE LD3AY
1,010,000,000& 1,010,000
02 Zaltl 124,393 0 124,393
ORIHI(AS, JI|, 48, 841, = 2el)
124,393,000 124,393
03 Al 20HHI 9,207 0 9,207
OAIZ20HHI 9,207,000 9,207
HR0S SEFXHE ZdAY 492,480 0 492,480
401 Al HIZL 201 492,480 492,480
01 Al&H| 492,480 492,480
OHR0ts ST ZgAE TAIZCH
(5=) 28 9 AALK8Y
492,480,000& 492,480
EQHAIE & T ZEAE 260,000 260,000
401 AIEHIX R0 260,000 260,000
01 A28l 260,000 260,000
OFa3d { XotEsgF=IE ZdAH
Bt E XA & AV EES
260,000,000 260,000
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A HSAIEW
g ANXGH| E2 TA
el HISAE 01ZP RE(ZRUARR) (cHol:ziel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEMS 14,180,000 16,649,320 A2,469,320
Al 5,180,000
H 9,000,000
AHRGH| E2 TAl 14,013,500 16,649,320 A2,635,820
Al 5,013,500
H 9,000,000
HSAIE elZet AF(SKMA2]) 14,013,500 16,649,320 A2,635,820
Al 5,013,500
H 9,000,000
SUAsIM=2 54 5,013,500 6,225,000 A1,211,500
Al 13,500
H 5,000,000
401 AIEHIZ SO 5,013,500 6,225,000 A1,211,500
Al 13,500
H 5,000,000
01 AlZH| 5,000,000 6,200,000 A1,200,000
OsU=2MSsdH 2HE
5,000,000,000& 5,000,000
H 5,000,000
03 Al =2 0HHI 13,500 25,000 11,500
OsU=2MsdH 28
5,000,000,000& %0.27% 13,500
A=USHMFHE A 5,000,000 2,500,000 2,500,000
403 AXIEHHSAH=201H 5,000,000 2,500,000 2,500,000
02 SI12S0ItH et =& 2 €A I 5,000,000 2,500,000 2,500,000
OS=U=HHSHE 2HE
5,000,000,000& 5,000,000
SZ2ASsHE A8 4,000,000 2,500,000 1,500,000
H 4,000,000
401 AlEHIZL SO 4,000,000 2,500,000 1,500,000
H 4,000,000
01 AlZ2H| 4,000,000 2,500,000 1,500,000
O=sZEsMsdH 2HE
4,000,000,000& 4,000,000
H 4,000,000
Heas(MsEM) 166,500 0 166,500
SHANE(SSHL2) 166,500 0 166,500
A= OlXtast 166,500 0 166,500
311 XS0l Rr&ate 166,500 0 166,500
05 JIEtAH L SOl Attt 166,500 0 166,500
OSUAIIMSE2 SE XS OIA &t
111,000,000& 111,000
O=sZ2MSHEHAZY NY OlAF et
37,500,000 37,500
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Al A

SH: AE™
33 s wSHA 75 & TADE g2d
oel: S2RAB(SRMAL]) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL F M 18,744,913 11,500,000 7,244,913
Al 4,744,913
H 14,000,000
Helgt WEMA 5 € TAIZE 2 18,600,900 11,500,000 7,100,900
Al 4,600,900
H 14,000,000
CERXZ2(SFMHa22]) 18,600,900 11,500,000 7,100,900
Al 4,600,900
H 14,000,000
ST2-626 S WS S2IHESA 6,000,000 0 6,000,000
H 6,000,000
401 AIEHIZ SR THYI 6,000,000 0 6,000,000
H 6,000,000
01 Al&H| 6,000,000 0 6,000,000
OS22-658 S Mt S2HESAL
6,000,000,000& 6,000,000
H 6,000,000
OIRZ EZ2EESA 8,000,000 0 8,000,000
H 8,000,000
401 Al HIZL S 0HYI 8,000,000 0 8,000,000
H 8,000,000
01 AlZ2H| 8,000,000 0 8,000,000
OotRZ EZET A 8,000,000,000& 8,000,000
H 8,000,000
S+ Z2HESA 4,500,000 8,000,000 3,500,000
401 AIEHIX S0HH 4,500,000 8,000,000 3,500,000
01 AlZH| 4,500,000 8,000,000 3,500,000
O+ Z2HESA
4,500,000,000& 4,500,000
2002 EZ2IHHSAL 100,900 3,500,000 A3,399,100
401 AIEHIZ R HYI 100,900 3,500,000 A3,399,100
01 Al&H| 100,000 3,500,000 3,400,000
OA0t2 EZ2IHLIAL 100,000,000 100,000
03 Al 2 CHHI 900 0 900
OA0Z EZ2IHHSAL
100,000, 0002 %0. % 900
Hegs(Hed ) 144,013 0 144,013
SN E(SSMa2te) 144,013 0 144,013
A= OlXtast 144,013 0 144,013
311 XS0l Rrate 144,013 0 144,013
01 Al - 2 - RXSIHEI I SISOl AHat &t 144,013 0 144,013
02022 =2 IHE S A XL X = O X+a
& 144,013




SH: AE™
I WRES(ALTHIY)
el BMXE(SSMat2) (CH9): &S
SA - B S (BH) - MISAY - B2 Ofl aro e HDE2
—2022 1€ XG9I D|2 X 201XH=~
Xl=) 100,000,000 *1.5%*(368/365) 1,513
—2022d 38 XD |=2 X 20/kH=:A
Xl=) 7,900,000,000&! *1.5% 118,500
—20223 38 KISINLD|I= XS0 RH(A0H
2) 1,600,000,0002! *1.5% 24,000
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SN BAZSD
Hu: 29 =3
Sl HIOISE T4 (SRMa2a]) (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S X4 3,628,051 3,428,715 199,336
= 125,000
Al 3,503,051
2 2E 3,453,240 3,253,000 200,240
== 125,000
Al 3,328,240
HIOIS® Zd(S|MMatel) 3,453,240 603,000 2,850,240
< 125,000
Al 3,328,240
DlclWSE c2ed 453,240 45,000 408,240
= 125,000
Al 328,240
401 Al HIZ S 0HbI 453,240 45,000 408,240
= 125,000
Al 328,240
01 AlZH| 450,000 45,000 405,000
OOl2IU3d 2l2E4e (FII0t0l+2l=0IH
xd) 250,000,000 250,000
== 125,000
Al 125,000
Ooblcllsd cl2gd 200,000,000 200,000
03 A2 THYI 3,240 0 3,240
Ooblclsd cl=2&d
450,000,000&*0.72% 3,240
SAZESE B3 X 3,000,000 3,000,000
401 Al HIZ R OHHI 3,000,000 3,000,000
01 AlZ8| 3,000,000 3,000,000
OXAZE S X d EXI0HI
2,500,000,000& 2,500,000
OAAUHSE TAIZIHEZ2E(BE) & 3
HArgHE +eEY 500,000,000& 500,000
Heas(SdzdM) 174,811 175,715 A904
SBEIS(BRMet2e]) (BRMat2]) 174,811 175,715 A904
A= Olktate 174,811 175,715 2904
311 XL =0lAHaret 174,811 175,715 A904
03 SLHIALS0I Xttt 174,811 175,715 A904
OZII0IHH=A EXNHY SLHEXNUZ
| Kbafet 11,300,000,0002 *1.547% 174,811
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CAlsE 285,000 955,854 670,854
= 285,000
= A 2 285,000 955,854 A\670,8%4
= 285,000
S2 25 - EX XN (SMa2e]) 285,000 955,854 A670,8%4
[ 285,000
tlelssE ==hE 2E 285,000 995,854 A\670,854
= 285,000
401 Al HIZL S 0HYI 285,000 955,854 670,854
s 285,000
01 A28l 285,000 929,200 A644,200
Ot s=E 2=ty 28
285,000,000 285,000
[ 285,000
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